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1. 
Amit sold a mobile at a gain of 31%. Had it been sold at Rs. 294 more nen 

have been 38%. Find the cost price of moble 

(a) Rs. 3500 (b) 
(d) Rs. 4050 

Rs. 4200 (c) Rs. 4500 

How many three digit numbers are divisible by 5 or 9? 

T5? 

(a) (b) 260 (c) 270 (d) 280 
250 

3. A bottle of milk contains 4 of milk and the rest is water. How much of the mixture must be 

taken away and substituted by equal quantity of water so as to have half milk and half 

water? 

(a) 1/3 of original mixture (b) 1/2 of original mixture 

(c) 2/3 of original mixture (d) 3/4 of original mixture 

The average of next two numbers is 75. The average of first three numbers is 50. The average 

of next two numbers 75. The seventh number is 10 more than the sixth number and 10 less 

than the eighth number. What is the average of the seventh and eighth number ? 

8 a T HE 75 I ufJs fs saai rhHE 50I aTrS ÁaT THS 75 I SE SST SN 

(a) 85 (b) 95 (c) 105 (d) 115 

Find the wrong term in the following series. 5. 

6, 16, 42, 110, 274, 690 10 1 S 

(a) 42 (b) 110 (c) 274 (d) 690 
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Mahesh gets 25% marks and faile h 7s anarka hut Mohan gets 52% marks which are 22% 

6. 

more than the passing marks. Find the maximum marko 

HUH 25% a Ys aTer dw 75 »iai zTu u ferdi ua HJ6 52 % ma YE Je TGAYH 

(d) 250 

(b) 1200 (c) 1500 

(a) 300 

The population in a city was 95,00,000. 7. 
It has been predicted that in next years the 

population will decrease at the rate of 20 %. What will be the population of city after 

4 years ? 

ea HfTT t raret 95,00,000 1 fea syr att aet fa mars HTzi feg nrEei 20% t e 

a7 ue Hrfti 4 H mre HfJa Et»t fåat deft ? 

(a) 19,00,000 (b) 76,00,000 () 41,12,400 (d) 38,91,200

Ramesh invested Rs. 42,87,500 for future of his two daughters aged 10 and 15 such that they 
8. 

may get equal amounts when each of them reach the age of 20 years. The original amount of 

37 
Rs. 42,87,500 has been instructed to be invested at 10% p.a. simple interest. Find the amount 

1Soox invested by Ramesh for her elder daughter.

foeH atst aaH 

(a) 24,75,000 (b) 24,50,000 () 24,25,000 (d) 24,00,000

9. Shyam who has a certain amount with him goes to fruit shop. He can buy 100 bananas or 

80 apples with the amount he has. He retains 10% of the amount for bus fare and buvs 
40 apples few bananas from remaining amount. How many bananas had he bought? 

9. 

(a) 35 (b) 45 (c) 40 (d) 50 
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Answer the Q. 10 to Q. 12 based on followings.

A college has four sections of B.Com-l, A, B, Cand D. Ihe result summary of Semester I and II 
examinations is as under: 

Result 
Section 

A B C D 
25 27 29 22 

15 1310 8 
10 9 7 12 

Students failed in both semesters 
Students failed in Semester I and passed in semester I 
Students passed in Semester I but failed in semester I 

Students passed in both semesters 70 75 80 81 

ds fs mGHT YHT ̀ aa 10 $ 12 èfsa fefi 

HaHO 
B C D A 

25 27 29 22 

15 13 108 

10 9 7 12 

| 70 7580 81 

10. Which section has maximum pass percentage in both the semesters A 

3 (a) A (b) B () C (d) D og 
o 

11. How many total students are there in all four sections ? 

(a) 493 (b) 407 490 (d) 469 

12. Which section has minimum failure rate in Semester II ? 

(a) A (b) B () C (d) D 



l. The technology, Bluetooth, was named after which of the following king' 

(d) Magnus (a) Sweyn (b) Hardecanute (c) Harald 

4. Day before yesterday was Saturday. What will be the day after tomorroW 

(a) Wednesday (b) Thursday ( Monday (d) Tuesday 

15. Buying and selling of goods and services through wireless handheld devices such as 

smartphones and tablets is called 

(a) Mobile Computing (b) Mobile Portal 
Mobile Commerce 

(d) Location based Commerce 

16. The ability to recover and read deleted or damaged files from a criminal's computer is an example of a law enforcement specialty called 

(a) Robotics (6) Simulation 
Eomputer Forensics (d) Animation 

17. What is full form of Wifi? 
Wifi ya zi aiI? 

(ayWireless Fidelity (b) Wireless Filtration 
(c) Wireless Fibre (d) Wireless irewall 

18. RAM ofa computer is also called. 
Computer et RAM 
(a) Secondary Memory (b) 'rimary Memorv 

Associated Memory (d) Termanent Menwry (c) 
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19. Fitness: Exercise 

(b) Excellence: Promotion (a) Death: Health 

(d) Work: Experience 

H:3HJ 
Cye Knowledge Reading 

20. Which of the following features helps you to insert the contents of the Clipboard as text 

without any formatting in MS Word ? 

às fesfi faust feAHS 3J MS Word f fHzi fan formatting clipboard contents 
text sa 3yrfe fëu ofes zoeta? 

(a) Paste Special (b) Page setuP (c) Styles (d) Format Painter 

21. The full form of GPS is? 

GPSTYzi I? 
(a) Global Positioning System 

Ground Positioning System 
(b) Google Positioning System 

(c) 4dGlobal Position Satellite 

22. Anger: Provocation:: Fear:? 
aTH:350T::3:? 
(aThreat (b) Panic 

THdt 

(c) Afraid (d) Chaos 
3 
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23. What was the name of first mechanical computer designed by Charles Babbage Charles Babbage fMa ats yfus mechanical computer7i ai Ai ? 
(a) Pascal's Calculator

(b) Analytical Engine 
(d) Babbage Calculator 

(c) Leibniz Calculator 

24. How many four letter meaningful English words can be formed with the letters BETI using each letter only once in each word ? 

a1 (b) 2 (c) (od) 4 
$1-B 
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25. Which of the following is an example of absolute cell refere 

J3 tes NJ faus absolute cell reference t GerTde ar 

(a) A1 

25. 
(d) #a#1 

A!1 
(b) $A$1 

Which of the following key combinations is used to subscript the text in MS Word ? 

26. 

Jd Ts4 RT TZTSd keys combination t Ta MS Word ê text � subscript aG6 BET ai3 

(d) Ctrl and ^ 

(c) Ctrl and 
(b) Ctrl and= (a) Ctrl and+ 

How many bits are used in IP address? 

IP address fëe fas bits J Js ? 

(b 64 

27. 
(d) 256 

(c) 128 
(a) 32 

Which of the following features of MS Excel displays the data in column(s) accordi- 

28. 

ds fr fe MS Excel faJst feHsT HUËBi à mGHT column(s) I 3T 

(d) Filtering 

criteria? 

Sorting 
c) Pivot Table 

(a) Searching (b) 

29 Find the missing element.

lol C3,F-10, 1-101, 2 
() K-10201 (d) L-10201 

(a) L-10202 b) LK-I0202 

30. Find odd one out from following options. 
folxA* 

oO (c) Risky LeSecure 
(a) Dangerous (b) Precarious 

31. The computer does not boot in the absence of which of the following software? 
31. 

ds fsd fer fan HeeMaè fasi computer H5di ger? 
(b) Compiler 
(d) Acrobat Reader 

(a) Operating System 
(c) MS Word 

32 The full form of MICR is 

a) Magnetic Ink Character Reader (b) Magnetic Ink Character Recognition 

(d) Magnetic Ink Code Requisition 

MICR YaT 5 

(c) Magnetic Ink Code Reader 
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33. There is an increase of 91% in an amount arter 7 years at simple interest. What will be the 
compound interest of Rs 10,000 on same rate of interest after 2 years ? 

10,000 gue r f+afss f»TA tdar ? 

(a) 2600 (b) 2769 (c) 2669 (d) 2700 

34. How many connected devices are expected to be supported by 5G in around 1 quare kilometer? 

5T3T 1 fatfiza feg 5G MT fas connected uagai sare t Gte atst HE? 
(a) 2 Millions (b) 1 Million 3 Millions (d) 4 Millions 

35. What will be the number in place of question mark (?) in the following series? 
u u 

-9,-15, -49, -191, (?), -5759 
19 

(d) 
- 861 S+S 

-978 (a)-861 S (b) -961 (c) -976 

36. Files on which of the following devices are not effected by Virus? 
Js fr ET faust device virus 38 YgES 7i get ? 

(a) USB Port (b) Memory Card () Hard Disk tdy CDROM 

37. If you change a document and then try to close the MS Word application, the MS Word will 

Word. 

(a) ignore any changes to the document. 

automatically save the changes without a message prompt. (b) 
faai ysmEY TEH save a EaTI 
display a message prompting you to save changes. 
TE save a05 et fëa HeH èar 

(d) close without saving any changes to the document 

fasi esH save fa3 documentüe ad drar i 
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38. Which of the following services is used in FTP? 

(d) DNS 
SMTP 

(a) UDP (b) TCP (c) 

39 When was first email sent ? 

(d) 1974 

(c) 1973 
(a) 1971 (b) 1972 

40. Which among the followings is main parameter used in Pseudoranging as its main 

constituent? 

J8 T3t k Pseudoranging f HTftza ed eat HETJ ? 

(b) Velocity 
(d) Object size 

(a) Distance () Time 

HHT 

41. 6732 is divisible by which of the following number? 

às fifo 6732 fan avs seaar? 
(a) 10 fb11 8 (d) 7 

Study the following symbols lying in a series carefully and answer the question number 42 and 43. 

M W D 1 2 # E % 0 3 9 P 6 & H 5 X $U @ A 4 7I z C Ap,E, 

Which of the following is seventh to the left of the sixteenth from the left end in the given 42. 

arrangement? 74C 

(a) E (b) R d-1 

How many symbols in the above series are enclosed within vowels? 
43. 

st det zst fëa fas fig vowelsè fëe T5? 

(b) Two Three (a) One (d) Four 

10 
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44. Given the following statements and conclusions. 

Statements: 

Co( ( 
RooK 

I. All papers are books (Pa 
I1. All Bags are books 

III. Some purses are bags 

Conclusion: 

I. Some papers are bags X 

II. Some books are papers 

III. Some books are purses 

Which of the following options is true about conclusion? 

(a) Only I follows. 

(b) Only II follows. 

() Only II follows. 

(d) Both II and IlI follow. 

45. Complete the sequence. 

DxA: 4x8:: MxQ:2 
()13x17 (6) 12x11 () 17x12 (d) 12x10 

S1-B 11 P.T.O. 



46. Which among followings is true for Delhi: Agra : Mathura 

(a) They are situated on bank of river Yamuna 
(b) They have been capital of country 

They have no temples. 
(d) They are in same state of India. 

47. Heart is related to blood in the same way as lungs are related to. 

(a) Nose 
(b) Oxygen 

() Chest 
Ad Respiration 

HT 

Consider the following possible schemes and answer Q. 48 to Q. 50. 

A B C 

Which among the following schemes describes Triangle, Scalene triangle and right-angled triangle? 
3s fr HahHT fed faust Triangle, scalene triangle 3 right angled triangle TTZ5 aoei 

48. 

(a) A b) B () C (d) E 

49. Which among the following schemes describes Words with no vowel, Words with one Vowel and Words with two vowels? 

(vowels)S HTETET EaE TTt ? 
(6) (a) A B c) D (d) E 
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50. Which among the following schemes describes Pple, Golden Apple, Fruits? 

(b)B () C (d) D 
a) A 

51. Give synonym of the word Legacy. 
(b) Things Inherited 

(d) (a Taken away 
Refusal 

( Acceptance 

We are now two kilometers of the town. 
52. 

(a) adjacent (b) beside within (d) out of 

53. Select the appropriate adjective in the following sentence 
53. 

I could not get. note book there. 

(a) Some LbAny All (d) None 

Give antonym of the word Coarse 

(b) Uneven 
54. 

Granular (d) smooth (a) Abrasive 

Ambala early in the evening yesterday. 

Leat 
55. I arrived by bus, 

(a) On b) In (d) IS 

Change the following sentence into passive voice 56. 
Have they won the match? 

(a) Has the match win by them ? 

(b) Have the match been won by them? 

() Has the match being win by them? 

(d) Has the match been won by them? 

57. Which word in the following sentence is verb ? 

There are books on shelf 

(a) Books (bAre Shelf d) There 

Select the alternative which best expresses the meaning of the ldiom/Phrase in tfollowing 58. 

statement. 

Don't try to throw dust into my eyes. You will not succeed. 

(a) protect my eyes (b) blind me with dust 

cmislead me (d) lead me 

S1- B 13 P.T.O. 



59. I cannot give. 
a A 

1000 rupees a month. 

(b) An (d) No article () The 

60. Find the correct form of the word to use in the following e He mentioned and designed what he needed. The suit proved to be . 

as per his requirements. 
(6) Exactly, perfectly, exactly 
(d) Exactly, perfect, exactly 

(a) Exact, perfect, exact 
)Exactly, perfectly, exact 

61. What is one word for the following statement? 
Handwriting which is difficult or impossible to read

(b) (a) Illegal Illusory )Intelligible d) Illegible

Select the correct expression for capitalized part of the following statement. 
I am tired as I AM WORKING since 8 o clock in the morning. (a) Iwas working 
(c I have been working 

62. 

(b) Iworked 

(d) No correction required 

Select the correct indirect speech for the following statement. 
The old woman wished that he might live long 

63. 

(a) The old woman wished that he may live long
The old woman wished that he has to live long (b) 
The old woman wished that he will live long 
The old woman wished that you may live lorng (d) 

The dog named Polo wiggled its tail when. 
(b) 

64. 
saw the master coming. (a) She His () It d) They

Choose the correctly spelled word. 65 
6 Phenomenon 
(d) Phenomenina 

(a) Phenomenin 
Phenomenona 

66. 
(a) faTH (b) TET 

67.e r at sad 
(a) 

67. 
(b) HuET (d) foaH 

68. a03di-ErsaTazEI 
(a) Haetr foorai i (b) 

(d) foIÄ TEtI (c) 
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69. 

(aTss (c) (d) 

70. 

(a) b) (d) 

(b) aHT asst () (d) TeAt a 

72. 

(a) fee (b) 5E (c) fafo (d) uE6e 

73. gu aI 

(a) (b) 

(d) 

74 

(a) (b) föT yfsar (d) feHsdt fö 

75. a 5 adt a, fee faus aiedi 

(b) c) 

76. 

(a) (b) 3 

(a) (d) t 

78. yfsrsi fts _ 
(a) ha (b rA (d) fJT 
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79. 

(d) (a) (b) (c) 

80. HU HYe JE - I 

a) frte» 
ftseta (d) &fz (b) (c) 

81. State Executive consists of 

(a) Governor and Chief Minister 

(b) Governor and Council of Minister with Chief Minister as its head 

(C) Governor, Chief Minister and Deputy Chief Minister 

(d) Chief Minister and members of his/her party 

82. Who was adviser to the Drafting Committee of Constituent Assembly ? Drafting Committee of Constituent assembly HaJaT aTH? (a) B. R. Ambedkar 
(b) BN Rau 

t. s. ar 
( Shiva Rao 

(d) Sachchidananda Sinha 

83. In which physiographic region of Punjab, the 'Cotton Belt of Punjab is located ? 
83. 

VATE® faH `fsdt àsa fës, ÜArEEt Cotton Belt' Hfts? 
(a) Doaba (bMalwa (c) Majha (d) Mina 

HTET HTT 

84. Who presented demand of Punjabi Suba first time? 84. 

(b) Master Mohan (a) Master Tara Singh 

() Prakash Singh Badal (c) Maharaja Ranjit Singh 

16 
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85. The presidential form of government operausn which of the following principle ? 

(a) Cooperation and Coordination between executive and legislative 

(b) Centralisation of powers 

(c) Balance of powers 

(d) Doctrine of Separation of powers 

86. The Central Government controls the states through different agencies and techniques. Which among followings is not covered for this purpose? 

(a) Governor (b) All India Services 
3YTS 

(c) Grants-in-Aid (d) State Police 
ae-fez.e 

Which state/UT has launched YounTab Scheme 2021 for students? 
fan 3H aed H'H3 YeH 7 fefmaEdH/5ët YounTab Scheme 2021 3 aisiI? 
(a) J&K 

87. 

(b) Ladakh Sikkim (d) Uttarakhand 

88. What is the full form of NOTA in election procese 
Tyfafs" feE NOTA E" YT 7i ata? 

a) None of the Above 
(c) Not of the Above 

b) None of those Above 

(d) Not of those Above 

89. In 1960 Olympics, Milkha Singh got 
1960 esfuan fea fkAr fHur awaBfean fe 
(a) Eighth position in 50 km walk 

50 fartza îeu fëesei 

(b) 

in Athletics. 

(b) Fourth position in 400 m race in final 
aretre fe 400 Htea fee dr 

(c)Second position in 1000 m race in final 
rEts fea 1000 tftza fee gH 

(d) Fifth position in 400 m race in final 
retss fe 400 Htea f~e TAET 



90. Who played the female lead role in film Bandit Queen faeH Bandit Queen f�a B zhkar os) fana tösre? (a) Rupa Ganguly 
(b) Seema Biswas 

Pratibha Sinha 
(d) Shabana Azami 

91. Who was the first woman judge in supreme court or n 
(a) Shanno Devi 

(b) Ruma Pal 
M. Fathima Beevi 

(d) Anna Candy 

92. What are the first three words of the Indian Constitution related to idea of self-government? 

92 

(a) We the people 
(b) We the government 

We the citizen 

d) We the Indian 
93. Which of the following authority conducts election to the office of President? (a) Parliament 

(b) Election Commission of India 
HHE 

) Supreme Court 
(d) None of the above 

94. East India Company signed Treaty of Amritsar (1846) with which of the following Ruler? 

Js fsd fauHHA 75 East India Company 6 Treaty of Amritsar (1846) atst? 
(a) Maharaja Ranjit Singh (6) Raja Yadvinder Singh () Raja Gulab Singh 

(d) Raja Ranbir Singh 
The first sound Punjabi film, Heer Ranjha, using the sound-on-disc technology, was released 

95. 
in which of the following year ? s fs fëT fan HTe%, sound-on-disc technology i z33 zafei, ufJest »e ETt a (a) 1932 (b) 1933 

(c) 1940 
(d) 1930 

8 
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The Indian Legislature was made bi-cameral for the s 

96. 

for the first time by. 
T fJest erd bi-cameral u2rfenr fan ft 1 

(a) 
Indian Council Act of 1892 

(b) 
Indian Council Act of 1909 

(c)The 
Government of India Act of 1919 

(d) The Government of India Act of 1935 

In post COVID-19, patients develop iucOIcOsis, It is commonly knouwn a 

97. 
n as 

coVID-19Á me ¥ötHT ET MucormycosiS eaH �erdIfeni H aa 

(a) Black Fungus (b White fungus () Eye inflation (d) Nose bleeding 

98. In which year, Punjab Government 15sued notification to implement Super Straw 

Management System? 

HTE HOCTa a faa HTS fëT Super Straw Management System 5r aa5 se ZeaH6 

(b) 2019 (c 2017 (d) 2020 
(a) 2018 

99. Which is the Chief Policy Formulating Body of the central Government ? 

(a) Cabinet 

aafoz 
(b) Prime Minister (c) Lok Sabha (d) Rajya Sabha 

100. The Indian National Calendar is based on. 

(C) 
Vikram era Hirji era 

(a) Christian era (b) Saka era 

101. How many sessions of Lok Sabha take place in a year 

(d)4 
(a) 1 (b) () 2 

Which of the following Article is related to Duties of Chiet Nnistets 

165 () 163 
(a) 167 (b) 166 (c) 
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103. Which of the following doesn't come under economic Infrastructure ? 

(a) Roads (b) Railways 

Power 
(d) Education and health 

104. A bill cannot become an act of parliament unless and until 

(a) It is passed in Lok sabha. 

(b) It is passed in Rajya Sabha. 

(c) It is passed in both Lok sabha and Rajya sabha. 

(d) It gets assent from President. 

105. Which of the following is the oldest oil refinery in India? 

(a) Digboi b) Haldia (c) Koyali (d) Mathurafaaraet
HT 

106. Which is last railway station in India side between Amritsar and Lahore? 

(aWagha b) Amirtsar ( Attari (d) Chheharta 

107. Sirhind Canal is connected with which of the following river? 

(a) Beas (b) Ghaggar Ravi (d) Sutlej faH 

20 S1-B 



10%. Whch river separates Malwa and Doaba ? 

(a) Havi (h)Beas (c)utlej (d) Jhelum 

109 Which is the longest dam of India ? 

(a) Sardar Sarovar Dam of Gujarat 

(b) Kallanai Dam in Tamil Nadu 

(c)Hirakud Dam in Odisha 

(d) Sunderban Dam in Kolkata 

110. Who among following in state legislature decides whether a bill is Money Bill or not ? 

(a) Chief Minister (b) Deputy Chief Minister 

(c) Speaker of Legislative Assembly (d) Governor 

111. Which among the following cannot be an issue between centre and state? 

(a) Selection of State Assembly Speaker 

(b) Misuse of Article 356 (b) 
356 ur et gTrTa 

(c) 1ssue of Grants 

(d) Role of Governor 

P.T.O. 
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